%000 10 |%e€'C T |%9T'TS [ee [wts'oy oz [%00%0 [o [wories Tez Taetivr 6T e s 6 ev  |oidrl] €z
%00°0 0 |%000 [0 |%60%6 |v [%16'06 |ov [%00°0 [0 [v%zss [ [ssiiss Tos Tsoocr i Tsiceis 0 [vp 6dll| ¢z
%0070 10 1%00°0 [0 %£9'9T |2 |ose€’es [s€ (%0070 [0 [%000 [0 [sza'6s [a7 Tskesies 5 oo To v 8dl11| 1z
%00°0 [0 1%68°L |€ |%ev'ST |2 |%89'€L |8z %000 [0 [weo i otz T8 okzhes 65 %68'L |€ (8¢ Lari| oz
%0070 10 1%00°0 [0 %000 [0 %0000t [8€ [%00%0 [0 %000 o [sesior [v T [skeics [¢ Toiseies T 8¢ odI1| 61
%000 10 %000 [0 e’z [T %96 [cv  [%00%0 [0 [heec [T foeeriee 117 Tocise ot Trei I £ sarr| s8I
%0010 10 %887 ¢ 1%.0°2T [ |%s0'8L [z [%00%0 [0 [%isier (8 [eervies (67 rzo it 1 Tsiseio 0 |1 vari| Li
%0010 10 1%00°0 [0 %99 ¢ g6 |cv  [%000 [0 [czt [T erire o Toiooos 175 e A edri| o1
%0010 10 1%00°0 [0 ]%00°0 [0 [%00°00T [Tv [%00%0 [0 %000 [0 [s00'0 [0 Tses i (6 s e se |1p zain| si
%0010 10 [%00°0 [0 |%eET's [z %86 [r€ [%00%0 [o (%000 o 000 [0 Twicior 6 Tenies IE |6¢ 11| ¥l

%000 |0 %027 |9 |%LS'VT [EL |%€CV8 |cev |%00°0 [0 |%81'6 |9% |%IL'%b |v2Z [%vz'ez |ept %LE'9T [28 |TOS TT 1oyl
%0010 10 %000 [0 [st'Sz |6 |%62vL |9z [%000 [0 |%Tz'sz |6 |%Zs'89 [vz |%izs |z %000 lo 1se T eoor] ¢
%0010 10 %000 [0 %S0Tz [8 |%s6'8. [0 [%00°0 [0 [%oT'er [s [secots (i ket 18 Tsise's o 3¢  1ziosll o
%0010 10 |%00°0 [0 Josee’s [¢ %96 |€€ (%000 [0 [wsic |t wooss (i [wze e Tseio 0 Joc  jiliond 1
%0010 10 %000 [0 Jsstt's |z |wesve [s€  [%00%0 [0 [%iv's o feesries [o7 e 16t oo o LE | 01001] 01
%0010 10 %000 [0 v |t "|wos'z6 [ov (%000 [0 [wvvic [T feessier i Trzzie 11 Teicier T Iy 6201| 6
%00°0 [0 |%00°0 [0 |%9v'8e |ST [%vS'T9 [ve  [%000 [0 [%iiiof [T [%iess [e7  Twozor Tv T Tiseis 0 |[6¢ 8001| 8
%000 10 1%9s'c |t |we9'c |e wwe'es |s€  [%00%0 [0 [wosc Tt e Tos Twicor 6 Tieoe 0 |[6¢ o0l
%0070 10 1%00°0 [0 %000 [0 %0001 [Tt [%00°0 [0 %000 [0 [wsiier [0 [sksiien (67 Tinis i 9001 9
%0070 10 1%00°0 [0 %ory [z wwe'se [ov (%000 [0 %000 o evzier [et Tsoo0s 15 Tsisi s 4% $O01| S
%0070 10 1%00°0 [0 %000 [0 %0000t [€v  [%00°0 [0 %000 [0 oe'et [ [szivi (5 [oiseis € |ep vO01| ¥
%0070 10 1%00°0 [0 vtz [T |%9s'z6 [ov  [%00%0 [0 %000 o feveic Tt Tkesies 17 Titie Ter Iy €001 ¢
%000 |0 [%000 |0 [%00'0 [0 [%0000T [ev  [%00%0 [0 %000 o [so0i0 o Fissihe T %CI's9 |8¢ et 01| ¢
%0010 J0  [%00°0 [0 %000 [0 %0000t [ev [%00° [0 [%00%0 [0 [0 [0 [skeses 5 ok o7 8T |tv 1201 1

%000 |0 |%61°0 [T [%IS'8 [vb |%0€T6 |2Zv |%00°0 [0 |%00'9 |T€ |%10'Tv |21Z [%ve'ot |ter %S09T €8 |ZTS 0T 1oy

%000 |0 |%SL°0 [TT |%9v'6 [6ET [%08'68 |0ZET [%00°0 |0 |%S8's |98 |%bb'8E |<95 |%vp'se o< %8Z'LT [vST [0LvT | ONGI ONOL

LT B R R T R TR S, e ) S e Psohsal TN st W [Elin |k Ry

X [quiqSunip| ey 19L wyy n9x yuiq Sun.ay, ey 1019 95 157 do 30 | SN
wn| yuey N[ 20 \o/v\ o No

TTOT - 170T 90y weN ‘| £ 90H (<] D arons 2

I HNVH YA D01 DOH IVOT daX 4T IL 3 ONOHL ONV4 < o&r onfB o

i 2 ozo?ov N

onyd queq - op AL - dg[ 930G ON ONOUM LdHI. NOAY
VN LAIA VIHON QHD IOH YX YOH 9NOD NON Y@ OV.L OVd VA OVID ¢




ONONAL (i
%000 (0 %C89 |€ %606 |V %6078 |LE |%00°0 |0 %606 |V %00°SL |€€ [%T6'ST |L %000 |0 174% I[IVZI| 9¢
%000 |0 %000 [0 . |%TTTT |S %6888 |0 |%00°0 |0 %¢c'C AT BIT'TL |2E |%L9°9C 2T [(%00°0 |0 94 DLVl ESE
%000 |0 %000 |0 %0€6 |V %0L°06 |6€ |%00°0 |0 %0€'6 |V %IT'LE |9T |%6VES [€T %000 |0 1914 6VCI| t¢
%000 [0 %000 [0 %688 |V %TT'T6 |I¥ |%00°0 |0 %000 [0 WBYYVT |TT |%IT'TL [2€ (%bvv'Y (€ Sv SVCL|EE
%000 |0 %000 |0 %000 |0 %00°00T |0 [%00°0 |0 %000 [0 %00°0C (8 %0S‘CL |6C [%0S‘L |€ (0% LVCI|=icE
%000 |0 %000 |0 %L EIC T %ELL6 |€7  |%00°0 |0 %000 [0 %ST'EV |6T |%LTCS €T |%SSY | 144 OV.CL|-AL€
%000 |0 %V6C |T %C8'8 |€ %vT'88 |0€ |%00°0 |0 %000 |0 %9LTT (v %¥2'88 |0€ (%000 |0 143 SVZI| 0¢
%000 (0 %000 |0 %000 |0 %00°00T | |%00°0 |0 %000 [0 96LeC T %SY'OL |TE |%LT°LT [2T |vb YVZI| 6C
%000 [0 %000 |0 %98°C |T %v1'L6 |VE |%00°0 |0 %000 |0 %6C VT [S %LS‘89 |vT |[%YTI'LT |9 553 eVel] 8¢
%000 |0 %000 |0 %000 |0 %00°00T |0 [%00°0 |0 %000 |0 %000 [0 %0S°CC |6 %0S‘LL [TE |0V CNCL] ke
%00°0-|0 %000 |0 %000 [0 %00°00T |8€ [%000 |0 %000 [0 %000 |0 %9T'ET S %1898 (€€ (8¢ EYCLl 79¢
%000 |0 %880 |¥ %L8'Y |TT |%ST'v6 |9Z¥ |%00°0 |0 %66'T |6 %VS‘8C |6CT |%8L'6Y [STZ (%69°6T (68 |[zSv CT oW
%000 |0 %000 |0 %S0T |6 %SS'6L |SE (%000 |0 %606 |V %9€°98 |8€ [%SSV |C %000 |0 4% Clel]] S¢
%000 (0 %000 |0 %8S'ST |TT |%Cv'vL |ZE  |%00°0 |0 %S6°ET |9 %LL'69 [0€ [%8T9T [L %000 [0 1317 LEHTL] e




